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SEMMOHERXREHRFE
X3 —2 EEYIHHETHLEES SHEICEIS HEBE/1) TS
2EfbOME | BRES | 08881023 | B4 | Tl | A 7E i | 2 F L i SR T 11
SERMO TiRICHET 51 H# SEMHEA
;ﬁ%’% TEEOBHDESLADKES TEEDHBEESENDKRES TEZEOBHOESLADKRES TREOEBESLIDKRES
B2 oma O TR B TR W | = | T [PRRPER e B [PREPERLTS e
S 100kN/mM%&#Z5| 100 000~ 050 107.42|3m%EBZB| - ~ - - - 100kN/m%E8B 25| 100| 1200 ~ 1403 107.42|3mEBZB| - ~ - - -
Zh st 00| 050~ 829 10000 FNAS | 000~ 829 196 9.93 Zn st 100l 500~ 1200 10000 FNUS | 500~ 1403 196 9.93
, 100kN/m%E#x 5| 100 000~ 120 118.10|3mEBZD| - ~ - - - 100kN/mM%E#825| 100| 1085~ 1518 11810|3mEEZRB| - ~ - - -
zhst 100 120~ 898 100.00 Fh Lot 000~ 898 225 11.37 zTh st 100| 500~ 1085 10000 TS | 500~ 1518 225 11.37
5 100kN/m%#8%x%| 100 000~ 171 126 15|3mEBZD| - ~ - - - 100kN/M%E#BZ 5| 100| 1058~ 1641 126 15|3mEBAD| - ~ - - -
ZThish Loo| 171~ 949 10000 TS | 000~ 949 243 12.29 Fhs 00| 500~ 1058 10000 TS | 500~ 1641 243 1229
s 100kN/m%#8%%| 100 0oo~ 208 132.14|3mEBZB| - ~ - - - 100kN/m%#8Z2 5| 00| 1058~ 1904 13214|3mEBZE| - ~ - - -
Zzh st 1.00| 208~ 986 100.00| FNS | 000~ 986 232 11.73 Fhs 100 500~ 1058 100,00 FNUS | 500~ 1904 232 11.73
5 100kN/mM%#E25| - - o~ - - ImEBAB| - ~ - - - 100kN/m#%825| - - o~ - - ImEBADH| - ~ - - -
Zzh st 1.00| 000~ 636 7994 TS | 0oo~ o000l 175 8.87 Zhn st 1.00| 500~ 745 7994 TS | 500~ 745 175 887
p 100kN/mM%#B25| - - o~ - - 3ImEBAB| - ~ - - - 100kN/m#%8B25| - - o~ - - ImEBAL| - ~ - - -
Zh st 100 000~ 613 76.93] TN LS 000~ 000 165 832 ZFhLst Lo0| 500~ 725 7693 FTNUSN | 500~ 725 165 832
100kN/ Mm% %3 ~ 3mEERD ~ 100kN/m% 8% % ~ ImEB25 ~
Thist ~ Thilst ~ FnLst ~ Fhst ~
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 % ~ 3mEHZS ~
Thist ~ Thilst ~ Thn st ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 5% ~ 3mZEHEZS ~
zh st ~ zThs ~ zh s ~ zhos ~
100kN/ Mm% % 3% ~ ImEBZD ~ 100kN/ Mm% %5 ~ 3mEHEZS ~
zh st ~ zhos ~ zhLst ~ zh st ~
100kN/m%#B% % ~ 3mEERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Thist ~ Thilst ~ Th st ~ Thist ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m%#BZ5 ~ ImEHZD ~
Thist ~ Thilst ~ TnLst ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEZD ~ 100kN/m% B2 5% ~ 3mEHEZS ~
zh st ~ Ths ~ zh st ~ zhost ~
100kN/ Mm% %3 ~ 3ImEBZD ~ 100kN/ Mm% %3 ~ 3mEHEZS ~
Thist ~ Zhist ~ FnLst ~ Thst ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Th st ~ Thilst ~ zhust ~ Th st ~




